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l. Garnets are characterized by their:
a) Dodecahedron form
b) Trapezohedran form
c) Octahedron form
d) Both (a) & (b)

nfeTor+s ol mEdT t Bq-+t
(3r) Ef€lwdo w
(E) q-q-dq tr"tcn Fq
(q) 3iqrmf, sq.
(<) d-rt (et) cq (e)

2. Andalusite and sillimanite crystallise in
a) Monoclinic system
b) Triclinic system
c) Orthorhombic system
d) Hexagonal system

q€-{e-r{i Tq ddt-flge or ffio-q"r7qpp1
qT6q+dTB?
(er) qf,dF-o EtE (e) fdrora eXg
(w) ftseoerer e1e 1q) s-toffiq e'1a

3. What is the hardness of euartz:a)5-5.5 b)6
c) 7 d) 7.5

Eqrfq o1o-d)-{dr EqT t ?

(ei) s-s.s (e) o

(q.) z (E)zs

4. Mica belongs to:
a) Nesosilicate
b) Sorosilicate
c) Phyllosilicate
d) Inosilicate

srffi' ffirfud q d ffi cnf,rd enar t ?
(ei) fuffirde (v) *r)-dfuftrd-e
(q) Frg.dtufud-c (s) 3n{+R-frde

5. Reference age of Deccan Traps is:
a) Permian
b) end of Cretaceous
c) Precambrian
d) Eocene

ad< |v of s<+f se'qqT e' ?

(er) vtrqq
(q) dqA* S

(e) D;tR++w ero
(E) wffrq

6. Granulitic texture is seen in metamorphic rock
of:
a) highest grade of metamorphism
b) metamorphism grade lower than gneiss
c) metamorphism grade between slate and schist
d) metamorphism grade between schist and
gneiss

offi rBq fu-{lqqt-n +1oreffid ffi d qrqr
wmt?
(ei) s-qoq orqrosq M
(e) il{s t oq oiqroq"r .M
(e) de 3N fuw d' 0-s qff o-rqror.r ffi
(s) Rrc ei-{ cr{q d ft-q o1 +rrjrilirf sirft

7. Pelites are
a) clay-rich, fine-grained siliciclastic sediments
b) fine grained carbonate rocks deposited
offshore
c) any metamorphic rocks
d) derived from organisms

+-orgzZTflqq fu-s n+-rq d srq-src d ?
(cr) Tft-mT ufi, gel_mli-q qffi-sq ci-q-w-E

(q) 3moffo wn g{, ge+ofru fl-d-.ft-e d-d
(s) ot$ $ orffie rt.d
(s) fti t sqq

A_tq,t
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8. Charnockite dominantly consists of:
a) Feldspar
c) Orthopyroxene

b) Quartz
d) biotite

"rd-o6c 
gqo: qrT t t

(er) S-own t (e) mfo t
(s) eileffi{ d (E) qro)-erEc t

9. Which element has shortest half-life time:
a) Uranium (U-238)
b) Thorium (Th-229)
c) Rubidium (Rb-87)
d) Carbon (C-14)

ffifua ildr q t fu-{-fr1 3Gf eng wct\ or t r

(3r) {tR-'qc (U-238)
(q) snRqq (Th-229)
(q) vRRqq (Rb-87)
(s) o.rtr{ (C-14)

l0.Geobotanical method is generally used in
exploration of:
a) mineral deposits
b) coal deposits
c) plant fossils
d) petroleum

p-ol+wft-o ftfu erqiqo fus c-o-R d 3fdrrT q

B!-qt{ fu-qr srnr * ?

(ei) uftw rw< (e) ot-+ar +rstr

(s) qr+wfuo d-qrq (E) Hfr-qq

I l. Shale refers to thinly laminated rocks
consists of:
a) sand sized sediments
b) clay to silt sized siliciclastic sediments
c) mixed siliciclastic and carbonate sediments
d) Carbonate sediments

qod, wffio a.cn r)e qft +fr t ?

(3T) qTq. ena-x d erffi?i drr
(q) qft-oT d we37fu-c enon d ftfu-e-so

errsrEi am
(v) fuftmt-veo \-q orfi& ftBTd effi-srd

aRr

1q) ord-+E 3r-fi{r<} ErT

12. Which one of the following can be

chemically formed sedimentary rock?
a) Siltstone
b) Grainstone
c) Calcareous mudstone'
d) Evaporite

ffifun E + ot{ fi 3ffisrfr id RTgl,qfuo qfu-ql

dRTflftt?
(ar) ug nw<
(q) {ilqq q-oRE.

/-\ .+
(q,l ,-rtcr-r
(<) ctq{q

13. Well sorted sandstone implies:
a) it has more than two minerals
b) grain size varies from fine to coarse

c) all the mineral grains are of same size
d) all grains are spherical in shape

.rft rltft yaprqd qg3{I q€rs t EqT ile-S t ?

(3i) E-sn Ei d 3rfu-n ro-n d Eftq B

(c) o"T or 3TFFr{ qer t ep oo e}or t
(q) efr qF-q o.il ot eTtcDrq \.o sqlc +dT t
(s) q'fr o'il at 3ile-ft -i-dToTq drft B r

14. Cross bedded sedimentary rocks implies:
a) sediments deposited below storm-wave base
b) sediment deposited above storm-wave base
c) sediments deposited between storm-wave
base and fair-weather wave base
d) sediments deposited above fair-weather wave
base

frriqr swRd 3r+qTfr 
"-grri 

S qqr arqd * ?

(er) q+rfr d6{ 3{rer{ d {-i ftdfr-o er+srs

(e) qaffi a.d{ 3{rqR d sw fre}fro er+srq

(w) ptft ilfl 3Tr€lR \rs 3qsrd' d--sq a-Es cnqn d
fi" frelR-f, 3r+flq
(E) 3rgry +sq dr{ cilfl{ d sw flidfuo erq-e-r<
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15. In which of the environments the
sedimentary deposition exhibit very poor
sorting?
a) fluvial
b) lacustrine
c) aeolian
d) glacial

Fqfufuo q S fu-s qkrwq q freifuf, cmsTd
sd$ qtrqr YaProRnI qrq-r q1dT t?
(3r) r-fr se-d
(e) *n eqd
(e) mgq sqd
(s) Rq eqd

16. Early diagenetic cement can be well
recognised in:
a) biomicrite
b) biosparite
c) diagenesis has gone under freshwater
condition
d) none of these

ffifud n + fu-e' E er{ft=o e-{-qFiT S+d o) cfd
nrd q qndl;TT qr sf,at B ?

(3T) qrl)ftFqe
(q) Erq'*+{Ee
(s) 3mgfr q-a .i crqqci tr{frFr{
(s) fli t t ofi rO

17. Ooids are formed in:
a) fresh water condition
b) brackish water condition
c) marine, low energy water condition
d) marine, high energy water condition

ersfi fld t I

(et) ere5.fr qa qRRerfui ii
(q) qi wa cRRarfui it
(e-) sgfr qd, 6c ssf qRRrFrq\ n
(s) q5_ft q-arerfu-o vof qRfurfui d

l8.Oscillation ripples are formed due to:
a) influence of water current
b) high turbidity in water
c) wind action with no influence of water current
d) fluvial influence

<)-dq sffimT c+i t r

(ei) qft d qm cqn d
(q) qft d 3rfuo 3rhddT d
(e-) sTg fu-qT t, fucT qd enr c',{E t
(s) Tfrq FTrq *

l9.Marine sediments deposited in greater water
depths usually decrease in concentration of:
(a) calcareous tests
(b) siliceous tests
(c) agglutinated tests
(d) arenaceous tests

slqFqcr: qrft of 3rfuo rEG d spr egfr u-a n
frelRo cms-rd n frtq-+t qridT i ofr Gil-fr t ?

(o) qnro et-a (e) fufu-ono eia
(w) eg*qd e).d (e) oqno uta

20. A sandstone with abundant feldspar is
called:
(a) arkose (b) litharenite
(c) quartz arenite
(d) well sorted sandstone

rgv dwwv gR q-g3n .r€rt qr;rT qrar * t

(e) enr+to
(q) ftercrt-{r{d
(s) a;*fw 3rtilEz
(s) ,rfi ufr gerrqo sg3{r q€d{

21 . What are strike-slip faults:
(a) low-angle reverse faults
(b) showing vertical displacement only
(c) Showing horizontal displacement only
(d) none of these
cfr-dqsr6 qcr qqr t 'l

(3{) ftq offiq roq riaT

(e) d*a stalq{ ft*ellqc
(e) d+a etft-q ft-{erqc
(E) il{n + or{ q*

AP/20L6/0027 Series-A
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22. Faults on which both dip-slip and strike-slip
movement has occurred are referred to:
(a) plunging
(b) non-plunging
(c) normal-slip
(d) oblique-slip

ltqr fu{t Trn-dq yq cfr-ds qzrFFT E3iI d, qri
vrtdr
(s{) 3r+fl{ (o) o-+m rR-o
(\c) slqFq s{o 1<) ffi wro

23. An outcrop of older rocks are surrounded by
younger rocks is called:
(a) onlap (b) offlap
(c) outlier (d) inlier

26.The outermost, rigid layer of the Earth,
consisting of the Earth's crust and part of the
upper mantle is called:
(a) Biosphere
(b) Lithosphere
(c) Atmosphere
(d) Asthenosphere

y"fr o1s{$ qrgft \'q dd}s qro q) fu yPfr
vs iie:f, d scft ?TFr t fi..df,{ s*ft g{ *, o)
(ei) enMw
(e) foerM+<
(w) verl.e++r
(E) g*eps{

27. Name of the supercontinent that existed 250
m.y. million years ago:
(a) Gondwanaland
(b) Pangea
(c) Laurasia
(d) North America

qr (ptc
(I)Ffl 6|

Q-qr qPsTer fif{* lffrq
qrcl qm * ,-
(3r) 3il--dc
(v) gn<, vnfr

qtd e-oor ffi s-RT fuft g$ d

(q) 3ilEdq
(q) qiln:e[fr

24.Inchevron folds:
(a) crests are broad and flat
(b) hinges are sharp and angular
(c) limbs are nearly horizontal
(d) limbs are nearly vertical

qEqtfr 46q ti:-
(ei) oa*ft$ dsr qq qqoa *ar B r

(q) tro ff-s sq d"ftq e\-or t r

(e) a++ qE olrJT Aft-o *d d r

(<) +or qrg dflrrr sqrq{ d-i d r

25. Folds are mostly caused due to:
(a) extensional forces
(b) compressional forces
(c) vertical stresses
(d) none of these

qoc 6ii d 3rfu-f,il{ o-rr"r * t

(c+) gmerma oNs (e) odqn-d eNg-
(n) eFo-a mNs (s) A-{n t of-i TSr

25s ftfuq-{ s{ Tad +qE
qmgi:-
(er) d-s-slil+s
(e) 

"iltfuqr

gc.+fBi-€ or qFr

(e) qtu"qT

(<) strft 3r+Rol

28. According to GPS satellite data, what
direction is the Pacific Plate moving currently?
(a) Northwest
(b) Northeast
(c) Southwest
(d) Southeast

GPS wm qf{mffi d cr5vn nfufu-fi de qdflq q

fu-tT Rw q .rft'qn t I

(ei) wtns- qFqq

(e) s-o<-5d
(v) <hv- vtran
(E) Ehur- {d

AP/2016/0027 Series-A
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29. What type of geological feature would you
expect to find along the west coast of South
America?
(a) A rift valley
(b) A chain of volcanoes
(c) An ocean ridge
(d) A transform fault

EfunT er*RoT d qp-+ oe d smrqq enq fo-q nor
d X-.p,ffq 3fie'ft ft-di of crien oi',),-
(e) <rn ud (e) wrmgd Toor
(e) qENTTftq d.fi (s) Frstr thi€

30. A boundary 2 tectonic plates collide is
called?
(a) Transform boundary
(b) Convergent boundary
(c) Divergent boundary
(d) Reversal boundary

T6 €rqT qET E) tqelF-o Q-es'eoqrft B:-
(o) qTqtr qrs-$ (e) o+rd-< crs$
(e) sr$e o,s+r (s) M qrs$

31. What is Physa ?

(a) it is a leaf-fossil
(b) it is a dextrally coiled gastropod
(c) it is a sinistrally coiled gastropod
(d) none ofthese

w6cr aw B ?
(er) qs sf, dv-d-flPq B

(s) q5 96 effit$ oi{"s .f{frs t
(q) qe so ftffi oi{G n@s t
(s) fln d oE c-e

32. Calymene is a tnlobite:
(a) with spines
(b) without spines
(c) with very large eyes
(d) without eyes

ffiq grg?hgd i',-'
(v) wrqe vR-o (o) rclg* rR-o
(q) e-gf, fAerrd 3ffi qR-d(E) sffi {trd

33. Lamellibranchs are generally:
(a) inequilateral and equivalve
(b) equilateral and inequivalve
(c) single-valved
(d) very small size

-s-+*-a-\+ 

- 

+,
cl t+1clt9t(ffi nt+lt-qfl. F I

($t , .1(1+1qts \q n.lcr)vtc

(q.) RTqTg Tq 3N|IIdqfe
(ir) golot oqe
(E) qgo da oqz

34. What is a Glossopteris?
(a) it is a leaf-fossil of Lower Gondwana
(b) it is an index fossil of Gondwana Supergroup
(c) it is a leaf fossil of Cretaceous
(d) it is a fossil-wood

-affiq cqr t ?

(q) d3N li€snT oT dF ETkd
(q) rtgqrqr gq{.Jc or f,CmvTfua
(e) firJfuqs oT dF trifu-d
(E) trifud gs

35. The age of Hippurites is:
(a) Paleaozoic
(b) Early Jurassic
(c) Late Cretaceous
(d) Recent

R5rrgftq of org t''-
(er) tfueNr5n
(q) erff gqTfu-o

(s) d-e D'Jtuqs
(E) ft$-e

AP/201.6/0027 Series-A
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36. The main unconformity separating the
Archean and Proterozoic successions is at
around:
(a) 3400 m.y.
(b) 2500 m.y.
(c) 65 m.y.
(d) l0 m.y.

3rrtrT{ cq e)ttut{f, Grgrnq d fa'.{fi o-{i Erff
Tc< frq6=* 6qqr-f g;-
(e) s+oo ftfuq-{ s{
(e) zsoo frfu+n sd
(e) os ftfurq qS

(q) ro ftft-qc s{

37. Which supergroup has huge coal deposits;
(a) Aravali Supergroup
(b) Dharwar Supergroup
(c) Gondwana Supergroup
(d) Marwar Supergroup

ot{dT ft'dc d fr:rm w-s-n fu-q'gq-{gq q M t ?
(ei) emsfr gqr.{q
(E) qrq-ilr Eq{5q
(q) +e-flil gq-{.Jq

(E) q|{sls 5T{gq

38. Which of the following represents the
longest in time period?
(a) Precambrian
(c) Mesozoic

fr-{nt6}aqflq"Tq
(st) fi-dfu-+q
(q) ftslst{o

(b) Paleozoic
(d) Cenozoic

oeq e-d$ dRrr qwr EeTfdT t 'l

(e) ttuffi-so
(q) ffi5o

39. Shallow
exposed in:
(a) Spiti
(c) Kachchh

marine water Jurassic rocks are best

40. Smallest unit recognised in sequence
stratigraphy:
(a) bed
(b) stage
(c) parasequence
(d) FAD

ergon wffi Eft sdd dA {nT-g t,-
(et) vwr
(e) egcu
(e) q
(<)wceGAD)

4l . Type-section of a lithostratigraphic unit is
called:
(a) holotype
(b) Paratype
(c) Topotypte
(d) Stratotype

3rcq-trR-f, EEr$ or !.rs-q qME (Type section)
q.I;Ir qmT B I

(er) d"tdr{q
(e) qqTdrEq

(v) ffergc
(s) Qdrur{q

42.E1Niflo is related to;
(a) warm water in the tropical pacific shifts from

west to east
(b) cold water in the tropical pacific shifts from

west to east
(c) warm water in the tropical pacific shifts from

east to west
(d) normal climate cycle

Grcftrf ffin t r

(et) sqap6lo sqrd retrna d swr qj-;ft o-r qtrqq
t Td of eil-{ rTT{

(q) BNT6fu-{#q csra qflHrrx d eosl qr-ft or qtrqq
* Td o1 3i..{ .rrq

(s) swrotr-ilS-q cerrd {br€-rR d o-wi vrff or g.d d
ctrqq of 3ifq qq{

(E) qrq|al qE-slg 4fr

fuEd er-d G-&{'G}tuz6'J"

FI
(er) drfr
(q) o-6

(b) Jaisalmer
(d) central part of Indra

agriroewtffio
(e) $*rair
(s) .rr{fl d qq qFT fr

AP/201.6/0027 Series-A
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43. Relative sea-level change in any region may
be because of:
(a) Eustatic sea-level change
(b) as a result of uplift of datum line
(c) as a result of subsidence of datum line
(d) all the above

fu-S etr n qdfu6 sgq dd d cMr olo-xq e)qfidr € |

(er) teE-o q-gq a-d qRsd-{
(q) d-eq dTfi d r€nq t
(e-) Ssq erS-{ d serc.t
(<) sc*fi g-Jft

44. Coriolis deflection is related to the:
(a) motion of the object
(b) motion of the Earth
(c) latitude
(d) all the above

otR$fus fuil-{ qqr
(3T) q-q o1 Tft d
(w) ew l-er S

45. In deeper marine water hydrothermal vents:
(a) are biologically more productive
(b) are toxic for living organisms
(c) do not exist
(d) none of these

.rdi Fgfr q'o ii qa-orftq arq:_
(3r) d-h'6 w t erfuo se-reo drd d I

(q) rri srd frsi d ftrd ftqrm erd d,
(q) +qE .rS eii r

(E) nn t oH rfir

46. Which of the following is not a marine
microscopic organism found in sediments?

47.If a dead radiolarian sinks below the
lysocline:
(a) it wilt begin to grow larger
(b) it will begin to dissolve
(c) it will start to sink faster
(d) it will remain Linaffected by the seawarer

chemistry

qR Vo 5o fftzfdRw aifcf.rcrrE-{ d fin s^qdr i
clt

(ei) gs-+l gR Efqr go d urar * r

(E) z16 gd-fl go d urm t r

(e') q6 doft t q*i o-rm- t r

(E) Fg* q-a o1 snrTqF.ft t qeqTfrd rrnr B r

48. The CCD is the depth below which:
(a) no carbonate secreting organisms can live
(b) seawater is supersaturateJ with respect to

calcite
(c) calcite is no longer preserved in marine

sediments
(d) carbonate rocks are deposited in abundance

rft fr q (CCD)cs'r6qT-$ i fu$d fi-A,_
(3I) oi$ fr q;rdie relTfu-a trq qSI rror
(e) e5fr q-a derse $ aq-qos Ei-dT C.

(v) e5ft-o 3r4FTd t d-drrilc {ft-d c-$ {6 qrdr 
I

1q) oldi& aui rgrar d q-qr e)-ft d r

49. Mid-oceanic ridges of Atlantic Ocean are ar
the:
(a) convergent plate boundary
(b) divergent plate boundary
(c) trench
(d) none of these

errorfuo qrrqFr{ qff qq-F5ft o-go *:_
(ei) o-+fs dd clBS
(e) sT{d-d€ +c Ersg
(q) t'q (ed)
(q) wn d org Tfr

(a) diatoms
(c) foraminifers

Fe-tto)-q-flTq5-fi
qtqt qtil' ?

(3T) su.q
(q) w)rrfrFq-{n

fu-sd{ffi-f,t?
(E) gd +t ,Tft €
(E) w+ff {afr *

(b) coccolithophores
(d) tektites

erfuer frq Gner<l q c-€r

(e) oH,fuerM-cs
(s) tseTs-s
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50. Thermohaline Circulation is basically driven 54. Which of the following is most widely usedbY: metal in the world?
(a) global density gradienr (a) iron
(b) green house effect (b) copper
(c) anthropogenic acrivities (c) aluminium
(d) movement of oceanic plates (d) zinc

qdt-drfi c$R 3ilqR rq t sdtqr qrnr tr qq * ot{ S ETE fr€_4 q q-stfu-f, Bq-q}-,T fr fr qffi
(3r) ttr{f, qid 6lrr t ?
(q) ftq drss qlilcr (er) do (E) dr{r
(e) qTTf,qF-d fr-qd tel ygftF-qq (E) q-KT
(E) c-tTfl'rfts d d sqro-q d

51. The main raw material for ceramic industry 55. Gossans are related to:is: (a) magmatic concentration
(a) silica (b) clay (b) sedimentation
(c) gypsum (d) limestone (c) supergene sulphide enrichment

(d) metamorphism
+ft ftq sq)l 6T lrgs ot@T qrc- e)ar i-
(3r) frfumT (q) q-d rn-qc riqBid * r

(e) fuqq (E) q+ Tce1q (3{) ffiq
(q)3lcNT|(;I

52. which one among the following has highesr (q) sq-c-s{ e-or{g eTk
carbon content: ,(E) o-TqtfllT
(a) anthracite (b) peat
(c) bituminous (d) lignite

A-=+-*A-);..c 4riq s q fmqq oteFr d) sstfuo cI"T +ft e' ? (a) Silver
(e{) g€rrrle (e) fte (b) Iron
( fl ) rqgr+rir (E) td-r{rtre (c) Aluminium

(d) Copper
53. Khetri region of Rajasthan is famous for?
(a) iron ore ianoT-ni sR-q ems d:-
(b) copper ore (er) art
(c) petroleum (e) dra
(d) gold deposits (q) q-gfrF-qq

(q) dl.II
qur*erFr or ffi &tr ffi ftfS qfuq t ?
(e{) d--d 3iqs (q) crqf 3rqw
(q) Wfuq (s) Sd d qrsR
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57. The placer deposits are formed due to:
(a) weathering and erosion
(b) magmatic activity
(c) supergene sulphide enrichment
(d) metamorphism

€-ss qo-sr-s c-{d d r

(ei) weru Vo wrq{ gRT
(e; qtrfiq cb-qT sM
(e) Uqr$fq s-ffir{s sTR Hv
(s) o.rqiil{uT EI{T

58. The concentration factor of a metal ore is:
(a) the concentration ofore in the rock
(b) the concentration of metal in the ore
(c) the ratio of metal concentration in the ore to
its average concentration in the crust
(d) depends upon economic considerations

qfg 3rrs- €-dtra e)-i er orEo t r

(er) s{qw or a-fl-q d sdtro e}-cTr
(q) eiqw o-r 3rrr*D d e-+66 51*,
(v) er+sn q E-dR-d erg dQrT gsch-T tr-€ d eAFd oT3uqrd
(<) 3ilfctfi q6-d c{ fr'{q Etlr

59. Atomic minerals which are maximum used
in generating atomic energy:
(a) Beryllium
(b) Zircomium
(c) Lithium
(d) Uranium

F= q t dbt{c-r wqg-flq qho qrcTg sqf d
vcr({ q vqffuo B!-q}-,T fr ta-qT q-dT t t
(3t) i-Rftqq
(e) fu{o)frqq
(H) ftfu-q-q
(<) qituqq

60. Petroleum is generally formed from:
(a) microfossils
(b) inorganic elements
(c) deposition of organic matter
(d) decomposition of organic matter

+RldfEq qTsraro: q-{ar *
(ei) rrcm)vffu-w grcr
(e) 3roj{E-f, dG} ilT
(r{) orfF-f, q-<TQrT d q-qn d-Rt
(E) or-{Bo- qET?rf d-3rcq.{ Er*t

61. Residual hill in the desert region is known
AS:

(a) Playa
(c) Inselberg

tft-Rin q Gr-{Rr€
(3{) wqr Q
(g') *+nq-f

(a) limestone
(c) Moraines

or€ 5q6; fo-sq
(G{) {qI q_€r{

(w; q15*

(b) Pediment
(d) outlier

cETS o) qrq qrar t r

(o) {ffig q
(<t grc, elfr e

62..Karsts are mainly found in areas covered
wltn:

(b) sandstone
(d) loess

ergn e)_ii i qrqT vroT * ?

(e) cgor re.n
(E) dlqT

63. Rocks deposited by glacier is called
(a) outwash plains
(b) turbidites
(c) ardtes
(d) moraines

fBqrq ERT eqr aani or ?q[ o-ar qrnr B ?
(3T) RrrT-ft eff, +qTq
(e) effisT{e
(e-) ct--,s
(e; q1*
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65. Silty in texture, and associated with
productive agricultural land, loess is deposited
by:
(a) wind (b) water
(c) glaciers (d) none of these

M .rdq vq vsrRo
fqe)ft-d s)-d d r

(3{.) slg aRT

(q) Rq-{E EtrT

Efr Tfr + ffid, E)w

(E) Wd' df{'
(E) wn t oig TS

66. Seismites are:
(a) shorr name of seismograph station
(b) seismogram
(c) sedimentary beds and structures deformed br
seismic shaking
(d) structures formed by tectonic activities

RlwEue. qsT t ?
(GT) fu-sc)wtn €erl oT wl*w crr,
(e) fudmq
(q) 3r+qTfr wcs{ den rfoA oq-o gm ftH_o sqqqr
(<) Mfuo fuqr.3n # *+ rl-ra-flr

67. Pedogenesis is:
(a) genesis ofplants in geological past
(b) a carbon rich rock
(c) a processes by which soil turns in to rocks
(d) the process by which soil is created

Tfl-q{q ?sT B ?

(er) A1ffio gRErg d qrg.fr..o wq-{
(q) orfi{ BtE qgc
(E) 1_<l 6r 

"-qrc 
d qMq o1 c.brT

(E) T<T B-.qft sfr c-fuqT

68. Coastline is:
(a) also known as seashore
(b) same as coastal area
(c) same as coastal zone
(d) same as surf zonq

d-Es iw eqT t ?

(si) w'gq fuili d ilq t fi sFT trt-dT t r

(q) adq &ir d-{rT

(H) d&q qtq d-{T
(E) qd trll frqT

69. Bay is:
(a) a body of water connected to an ocean
(b) same as lagoon
(c) same as gulf
(d) same as estuary

erg B,-
(3r) q5q A gv gen w.fi ol qFr
(q) dxl d dsT
(q) r-cw d dsT
(E) segfr s.{rT

70. Neotectonics is the study of:
(a) deformations of earth's crust that are recent
in geologic time
(b) deformations of earth's crust that has taken
place only during last 10 years
(c) deformations of earth's crust that has taken
place since beginning of Tertiary period
(d) deformations of earth', 

"-rithrt has taken
place only during palaeocene period

q-affifi!fr erq--qq g:_
(3T) Wfr-{Td d ern-* vqq E T_l{A oi ft-rqrr
(s) frBid ro qre\ q 

Sd T_qf0'ol ft-sqlT
(s) drtqfis-e d gu+ro S gerr T_qd-A or furq_r
(E) qfuqf$q o-* i gen T_qfe or A*,

64. All the following are associated with stream
tandscape in plain area except:
(a) oxbow lakes (b) irrovos
(c) alluvial fans (d) washes

s'ft gpsTB q-EFft &lr d
r{rcITZI

(sr) 3n-flrd tffi
(e-) q-citd f+$ qd

vtror Ero,p qq + B, d

(e) s{)zrls
(E) sTpt-q

i
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7 l. Electromagnetic spectrum:
(a) includes only radio waves
(b) includes only microwaves,
(c) includes only infrared
(d) collective term for all possible frequencies of
electromagneticradi ati on

A"gd-gqfus d-flff C qFqft-d t:-
(ei) d+a iM n-{t qFqfr.o d t

(e) d+a lrgol il{n qFqfu-o d t

(w) do-a $wit_s il{n irFqfuo d r

(E) frgd-gqfuq frfu-{"T of s.fr s+rD-fl slqFda} d
ftri ffio qq

72. Aenal photography is:

(a) air-to-air photography
(b) photography by a camera is not supported b1'

a ground-based structure
(c) photography by a camera is supported by a

ground-based structure
(d) all the above

qtqq tr.rffi B-
(3r) EdT d rqr sffi
(q) dqi Errt' of rd trffi ui .1- enarfto vran-
sr(T qqf$-d qfr t r

(s) N am of fi nffi o\ X- ererfto eran
grT qqiafd t t

1<; wfroo w,ft

73.In a vertical aerial photograph deviation of
axis camera from vertical:
(a) up to 4o is acceptable
(b) no deviation is acceptable
(c) deviation may go up to 20"
(d) all the above

s*rw q BEb{ t ** o1 cfu* q

lq al c1 -l:-

(er)+ M ao ff
(q) oi$ ft-s-d{ ff c.St t
(s) fr-+ar zo M iffi qT e-d-dr e'

(E) ccqt-ff q''fr

74.The refractive index of the ocean water:
(a) increases with salinity
(b) increases with temperature

(c) decreases with salinity
(d) decreases with temperature

e5fr wa oT 3rqqd:o {4f,:-
(e) oouar d qr:r qant (e) atwr< d eTel qdrT

(e) ooum d nier q-rT (<) arwa d qrrr qeqr

75. The instruments which provide
electromagnetic radiation of specified u ar e

length or a band of wave lengths to illurninate
the earth surface. are called:
(a) sensors
(c) active sensors

(bt passire sensors

td) none of these

y"ft dt ens o] r)rTq d{i d ftd ft-gd gqfus
frfu-{"T d ftffi mN d{q M e{amr esq M or te
o] q'fl-{ 6{d srd Bqdirul tnrad B t

(3{) ff (q) ttuo ffi
terqF.{ #d (st f+ * fi{ Tfr

76. Coherence of nro electromagnetic waves
takes place if their phase difference is:
(a) constant in time (b) constant in space
(c) constant in time and space
(d) none of these

d fr-qd.g 
"d" 

d{.n d oBi-{ dil t, qft ur*1
3{cNeIT 3IFFJ 6:-
(3{) qrlq qckl (E) q[E-sdd
(w) wno \rq qrrd Bcro (<) flq + olg {e

71 . Pick up the correct statement from the

following:
(a) the distance between t\r s rgsg- \ e crests or

troughs of a wave. is cailed. the * ave length
(b) the wave length is measured in metres and a

fraction of a metre
(c) the wave length is generally denoted by )"
(d) all of these

fiq t d sfr oerc sorci'-
(er) ftffi dq'T d, <\ c6 d erE gfi 2.: - :- a era

of $ o\ il{l H 6f,i i
(q) ciw M ftc{ Cq {--{ o ei,-=r = : -- Ffr B I

(q) arrr M grqf-{d: e eF= f- ;=: a I

(e) s!-trff qtfr
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(a) 3 satellites
(c) l2 satellires

(b) 6 satellites
(d) 24 satellites

3rTffic q RQro fr ft Tci (GpS) sq-ra Girilfua qq
rEPfc aqrfr t, sil fu-q-rT +d;i, e-wd d,_
(ei) s w-a (e) o svr..c
(v) rz sw-a (<) z+ w-5

79. Which one of the following helps to identify
the objects on the earth surface?
(a) atmospheric window
(b) signature
(c) radiometric error
(d) ozone hole

ftq n q o)-{sr, y"ff of qil6 q{ furo arg o)
q6_4Ti d qee s-{f[ t ?

(or) srgq"€dq fuGdi (q) ffia-{
(v) iM.+ffo 3tu (E) 3r),ii-q tu_{

80. Remote sensing techniques makes use of the
properties of----------emitted, refl ected or
diffracted by the sensed objects:
(a) electric waves
(b) sound waves
(c) electromagnetic waves
(d) wind waves

1{.o aqsn ERT EtS .d . ... . ..., qft-fuR-d 3rerqT
ra-oltro ggr rt-dtrq aoqo t o-rq sffi ts r

(ei) fuqd e{n (e) q.6 *;l
(q) ft-{d- g<-+fq n-{n (s) sTg d-{n

81 . The least likely to cause casualties in
earthquakes
(a) building collapse:
(b) shaking and vibration
(c) fire
(d) landslides

pe d e-qg o-q wq
(eT) Crtr_dt o-r d-rT
(rT) 3{Fr

ilft E)i 6T g'qft-d oxq t ?

(q) oq-{ Tq QrqQI{IEg

(E) Tw'd-q

78. GPS is a satellite-based navigation system
placed into orbit made up of a nelwork of:

82. Excavation is very easy in the rocks
belonging to the:
(a) Achaean
(b) Palaeozoic
(c) Mesozoic
(d) Holocene

Fqdtfu-stffio
F/
(ei) eiltrq{
(e) ft*Mlo

qAn q B-sfi qgd' 3Tfsn

(q) qfteiqi{o
(<) +dt-{ft{

83. The most well cemented sedimentary rocks
found in Marwar Supergroup:
(a) Sonia sandstone ofJodhpur Group
(b) Girbakhar sandstone of Jodhpur Group
(c) sandstone of Nagaur Group
(d) sandstone overlying pokaran Boulder Bed

T.ilc gqr-Jq E 3rrfi d{6 S fttrs eraffi 9i-
3a-dfrrPT Fq e' q]{ q-lfr t r

(ei) u}agr Zq oT SF=qr qg3il q-€

(q) qlElgr gv or Frrrnor qFI3Tr q-€R
(s) ilTih Zqot qg3il Tc?I{
(E) q)-fi{"T qrse{ ns d uqffi qg3n r€r*

84. Which part of the folded strata is most
suitable for alignment of tunnels:
(a) through antiform parallel to the axis
(b) through antiform oblique to the axis
(c) through synform parallel to the axis
(b) through synform right angle to the axis

g{rT sts"T d m s-dd qnt or q6 qm d 3kq-d
sq-gm t:-
(ei) ovr-r?ov d d c-fu-s d wrT<q
(e) etq+fr-sq t d \-fus d ftRET
(e') 3rtr{-fl vq t t yfu--s d srrTrdr
(<) 3rftqa' $q d S c-fu--s d ft-{FT
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85. Which type or river valley is most suitable

for dam site selection:

;;;;;;"* but with highlv porous & permeable

basement rocks
(b) narrow but impervious basement rocks

).1 ilt""0 but witlrhighly porous & permeable

basement rocks

(b) broad but impervious basement rocrs

qre {arf, q-{q il {fi erE a16}+si qox ertqfuo

gqTtr i' ?

r.,iottt aftt{ 3rufu-6 qnr t fuFo delT qf{Tql

fiqda dA
1q) {i6ft dfu-q 3rcrrrc Gqdd dA

iel at$ dfrt{ 3r.qfu6 dPrT qrErrq

frqila $d
(q) 

"\-S 
dQdT 3{crrqq Fqfld iF

86. Which of the following has the highest

comPressive strength?

(a) Granite (b) Diorite

ic) Marble (d) Quartzite

87. The lime: clay ratio in cement approximately

(a)1:4 (b)4:l
irSz,z (d) 3:2

ffi ffi oT cqqrd 6"qq-rT ffi $ 1

(q)4: 1

(E)::z

88. What geological information is required in

the construction of a bridge?

i"i g""i"gi"al information of place of abutment

and the Pillars
(b) seismic activitY
(c) amounts of landslide
(d) all of these

(e-) T-wf,q 4T qRqTur

(E) sqtm s'fr

89. Which cannot be considered as engrneering

property of rocks? '
(a) PermeabilitY
(b) Strength
(c) colour
(d) deformabilitY

qEt<i oT ot-+qT 3lFrflfrtr X"r n* cr-' srdl ?

(3{) q{qqdl
(E) dsrqq
(q) {.7
(E) ft.sqdT

90. What could not be the cause of hill slope

instabilitl'?
(a.t sioPe

iui inii' inter-beds of clal parallel to slope

(c) set ofjoints
(d) dense forest

qilS d cTd i 3{RcKf,T 6l ErlT 6rs"T {€i d e-o-ot ?

(3{) 6d|q

i")."" d eqnr<q q-d er qc-d er<: sws E\-qr

(e) r4Rru\ ot €-e

(<) qi orff,

91. Concrete is building material made from a

mixture of:
(a) gravel, sand, cement' and water

iui!tuu.l, sand. cement' water and air

i.j !rut'.t. sand. cement' and iron rods

ioj-!.uu.i' sand, cement' and sunlight

66sq +aRs-f, o-+tc {c-d frarq d e-{r dfl't t

(e) r)oa, orq, m+€'3nr qr+

iel *nd og, Si-<, !ffi 3nv ilg
iil +-o. oq fii-< 3n-{ d-i ot ss

i"j r* erg, *fti-€ 3ir # 61l}ir'fi

frqndaT{qTsaf,q
(3{) nqr{z
(e) qta

Si-€ q an
(3{)1:4
(e)z:s

qqrq irfdn qsor t ?

(e) ouftr5e
(<) Eqdqrld

ga d Flt"r n fr-s Ttffi6
d-fi*?
(eTl qf,si-e a'{rl Fjq\ d {erc4

(e) +1-ofi Dlutd

AP1201'6loo2l
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9L. Why human population growth often is
"'-'considered the foremost environmental

problem?
(a) The Earth will run out of open land space

within the next 50 years.
(b) Increasing population strains resources and

creates additional wastes.
(c) There is no way to provide food for

additional people.
(d) There is insufficient oxygen production on

Earth for more than 10 billion people.

qnq q-{ssT gR o) sffi q-qffi'q q{sr €qr
qdt llcT qqT t ?

(ei) errd so qd d yefr w qd wre o1 oft Ei
qr}-rft

(q) {dft q=NfsTr dRt $isr+r} of qt-r nelr eiftR-m
afr tEr orq

(e) ufttrm trHr d fu rlt-q-{ e<r{ 6{ri oT ot$
{TK.r c-St E)-rT

(<) ro frfuqq Em d ftrd Sd !r orv+fw afimftqc
SFrcfi'IT

93. Freshwater is an integral part of the
hydrologic cycle. How is it produced?
(a) distillation
(b) evaporation
(c) condensation
(d) transpiration

era-5fr wa, q?r ?lF or erfr.qrcq trwT t, q6'dd
q+or i-?
(e{) 3nqfi (e) sr$-d{rT
(iT) qq{q (s) d<

94. Which is the term for water that is
intermediate in salinity between freshwater and
seawater?
(a) connate water (b) brackish water
(c) hard water (d) fossil water

sqdi wa Tq 3re5* qa d fi-q o1 oq.rm qr-d

d ftd sfua eT< o)_{qT i ?

(3{) iil+rs i.r (o) 1n*rt -.
($/ q?or( \nd (<.) q|q-Rlq U]-d

95. Groundwater movement is controlled by all
of the following except:
(a) the steepness of the hydraulic gradient
(b) permeability of the aquifer
(c) porosity of the aquifer
(d) change in salinity

frq d t fimd erorqr w,ft qrrT T-q-d ot ftq4lT
Eldf ts ?

(sr) ET{qfuf, }Rq€ of ft-q ddr;rar
(o) s-a5o o1 qrr{q-dT

(q) qdlla of q{ilir
(s) dqorcT q qR-d-dq

96. What is the term for wastewater that has
never come in contact with human waste?
(a) grey water
(c) white water

(b) green water
(d) blue water

ca srqRrc qd "fi qiq ervRrc d qrq-d q off rS
3TrqT d, d ftd sfua sr< qql t ?

(3t) 1)-{d{ (q) ftq qrsq

(q) qt{e sre{ (<) q qr.{

97. Alternative sources of water include which
of the following?
(a) domestic recycling
(b) aquifer storage and recovery
(c) rainwater harvesting
(d) all of the above

fr..r q t qc- d ffi-f, d i ssr rrfrTft-f, i' ?

(et) ui_q Tfdd"T (q) q-al1o rrs1qlT \'q gffi
(e) t-+ orar adfbq(s) Bcqtn e,fr

98. Water passes through a soil or rock mass
depends upon:
(a) the properties of the soiVrock
(b) the property of the water
(c) permeability (d) all the above

I-dl'Vq 4gnT i \rFr ?FT 5uc+r ft'.fr oEor *,-
(3r) Tfl,/{Air d W} w
(q)qedgqw
(v) vmTqflr (E) Bcirff q{ft
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99. What is the most abundant source of

freshwater on Earth?

(a) the oceans

(b) glacial ice

(c) streams and lakes

(d) groundwater

yefr q{ frd crft oi (ere5fi q-d) 6r'e-c$ u-5

Eqrt?
(sl) na-emr
(o) Ru< <S

(e)effi qq ffl
(<) T-qa

100. Advantages of creating reservoirs include

all of the following excePt:

(a) provides source of fresh water

iu) t"tt"t flood control ^ . -: ^-
("j d".t"ut"s amount of evaporatlon

(d) provides means or generating electricitl'

Fq n n ffi 3ralqr q.dTsls q-rTi 6 apr sFqfua

(3{) ft-e qrfr or dd e-flq o-€I

(q) i-{f,{ era ftqalT
(e) qrd-o-qq i oft
i"j nw dilf{q d qio+ q{rq d'{r

taln
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